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I.esson Part

1. Change the values of @ and b, and then complete the following table
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» Summary:
(1) Which special lines shall we use to construct the in-centre?
Answer: We can use at least 2 ﬂngle - bisectors to construct the in-centre.

(2) Location of the [-Centre

Inside the triangle On the triangle OQutside the triangle
Acute- angled triangle v
Right- angled triangle VA
Obtuse- angled triangle V.
The in-centre is always ]J’lSide p the triangle.

(3) Mark the in-centre as I. Construct the inscribed circle (the circle that touching the sides of the

triangle internally.
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15x10x4.5 150x2+(15+10)x2x4.5
=675 (cm?3) =525 (cm?)
B/\AREEE
B/\jarE
45x10x1.5 450x2+(45+10)x2x1.5
=675 (cm?3) = 1065 (cm?)
13.7><11.8><9

80.83x2+13.7x3x9

2
= 80.83x3 = 531.56 (cm2)
= 727.47 (cm?3)
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